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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 ] ] ] ] I
3500 —>— EcFzExp :
3000 4 —>¢— ECdef :
—>— water_ec | f
2500 2880850800808 : Z
I
1 Qee

2000 i
1500 N

Warning: coll EcFgro’, 'EcPltng’] is missing

I
1
I
I
1000 1

200 2 28 XX XX X 2 X X

500

0 25 50 75 100 125 150 175



Plot [’ ECopt’]

3500 -

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-2_0
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632 BT | SEBEKG)) | Efes (BA/F) | ERes (5/R) | K= E3

06:30 194 120.0 2.592 5| FHAQ06:30 KENFEF (GRAfEEEE)
07:00 194 120.0 2.592 5| FHAe07:00 KENFEF CGRAEEEE)
07:30 194 120.0 2.592 E|(  FiHRe07:30 KREFEF (GRAEREEE)
08:10 194 120.0 2.592 M| iH#Be08:10 KENFEF (RAIERIZE)
08:45 194 120.0 2.592 FI| FnHA@08:45 KRFIEF (RAEFREE)
09:15 194 120.0 2.592 M| FHEAe09:15 KENFZEF (RAAfREE)
09:45 194 120.0 2.592 M| FHA@09:45 KRENFEF (RF{EELEE

10:15 194 120.0 2.592 M| FHAe10:15 KREEF (REAEES)
10:45 194 120.0 2.592 M| FHEA@10:45 KREFZF (RAAEEE)
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17:15 194 120.0 2. 592 B5| ThHpe17:15 RHEF CGREAEZRSE)
29t 4268.0 (22:%) 2640.0 EWHKEC: 2700.0, PH: 6.5

BEXRERIPH (10.36) 5i8EPH (6.5) IREWR K, BT
FEREIPH (10.36) 5FMPH (6.5 REKK, FHE
[El;&EC 4033.0 K5, EiFKECAE&REER

H#EERECE (2703. 0 vs 4033.0) hs
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G3-2_0, Day=28 (2025-06-09)
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G3-2

BfiE) | EBAK G | ERE (EAR/H) | ERERE (B/R) | XK R

06:05 127 120.0 2.592 = {RRiB006:05 B (RAKEE)
06:40 127 120.0 2.592 E BRi%e06:40 Bl (RAERE)
07:10 127 120.0 2.592 = RRi8007:10 Bah (RAEESE)
08:05 127 120.0 2.592 = {RRiB008:05 Bz (FRFA{EEE)
08:45 127 120.0 2.592 E 1BRi&e08:45 Bl (RAEREE)
09:20 127 120.0 2.592 5| 1RiR009:20 B (KREAEESE)
09:50 127 120.0 2.592 = {RRiB009:50 B (RFAEEE)
10:25 127 120.0 2.592 =l RRiB010:25 Bz (REAEEE)
11:00 127 120.0 2.592 S {Ri%e11:00 Bz (RAERSE)
11:40 127 120.0 2.592 =l {Rige11:40 B3 (RAERSE)
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17:35 127 120.0 2.592 = RRiB@17:35 B (RFAEESE)
21t ] 2540.0 (20)%) 2400. 0 EGHKEC: 2700.0, PH: 6.5

large discrepency for begining water status (253:90.0), set to 253 ml
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BEEIRECE (2737.0 vs 3937.0) RS
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ERGEBIPH (10.4) S5iREEY (6.5) REK K, BHRE.
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G3-2

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:25 127 120.0 2.592 E[ BRi&e06:25 Bz (RFA{EREIEE
07:00 127 120.0 2.592 F[  BRi%e07:00 Ba1 (RAERSE)
07:40 127 120.0 2.592 S| {Rig@07:40 B (RAERSE)
08:30 127 120.0 2.592 E  BRi%e08:30 Ba1 (RAERE)
09:10 127 120.0 2.592 F[ BRi%e09:10 Bz (GRAERSE)
09:45 127 120.0 2.592 S| {Ri%@09:45 B3 (RAERSE)
10:20 127 120.0 2.592 F BRi%e10:20 Bz (GRAERRE)
11:00 127 120.0 2.592 =l Rig@11:00 Bah (RAEESE)
11:45 127 120.0 2.592 = {Rige11:45 B3 (GRAERSE)
12:35 127 120.0 2.592 E BRige12:35 Bz (GRAERESE)
13:20 127 120.0 2.592 5| {Ri%e13:20 B3 (RAERSE)
13:55 127 120.0 2.592 = {RRiB@13:55 B (RFAKESE)
14:25 127 120.0 2.592 E BRige14:25 Bz (GRAEREE)
15:05 127 120.0 2.592 5| {Ri%e15:05 B3 (RAERSE)
15:45 127 120.0 2.592 = RRiBe15:45 Bz (RFEAEESE)
16:25 127 120.0 2.592 = RRiB016:25 Bz (REAKEE)
17:05 127 120.0 2.592 El BRi&e17:05 Bz GRAEREE)
2it] 2159.0 (170%) 2040.0 JEWGHKEC: 2700.0, PH: 6.5

FOREB AT R IRAREIE I (127 vs 190.0))
ELIASSPRIERE80. 0 ml.

RERJEBIPH (10.45) 5i&7EPH (6.48) RERK, FHRE
REXEBIPH (10.45) 5FMPH (6.5) REKRK, BT
BEERECE (2672. 0 vs 3540.0) R

ERGEBPH (10.5) 5% EME (6.5) RERK, FNRE.
ERGEBIPH (10.5) S5#ERIEW (6.5 RERK, HRE.
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G3-2

BYiE) | GEBATK (RY) | EHRE (EAH/K) | ERERE (B/R) | XS ERE

06:30 125 120.0 2.592 = {RRi1B006:30 Bz (RAKEE)
07:05 125 120.0 2.592 F|  {Ri%@07:05 Hah (RF{ESE
07:55 125 120.0 2.592 F  BRi1%e07:55 Bz (GRAERE)
08:35 125 120.0 2.592 5| {Rig@08:35 B (KRAMERSE)
09:10 125 120.0 2.592 E[ BRi%e09:10 Bz (GRAERSE)
09:40 125 120.0 2.592 F[ BRi%e09:40 BE1 (GRAERE)
10:10 125 120.0 2.592 =l {Ri%e10:10 B3 (GRAERSE)
10:45 125 120.0 2.592 F BRi%e10:45 Bz (GRAERESE)
11:25 125 120.0 2.592 | {Ri%et11:25 Bz (REBERSR)
12:05 125 120.0 2.592 =l RRiB012:05 B (REAKEE)
12:45 125 120.0 2.592 E BRige12:45 Bz CGRAERESE)
13:25 125 120.0 2.592 5| {Ri%e13:25 Bz (GRAERSE)
13:55 125 120.0 2.592 = {RRiB013:55 B (RFAKESE)
14:25 125 120.0 2.592 E BRige14:25 Bz (GRAEREE)
15:00 125 120.0 2.592 5| {Ri%e15:00 B3 (RAERSE)
15:30 125 120.0 2.592 =l RRiB@15:30 B (RFAEESE)
16:05 125 120.0 2.592 =l RRiB016:05 Bz (REAKEE)
16:40 125 120.0 2.592 El BRi&e16:40 Bz CGRAEREEE)
17:20 125 120.0 2.592 F BRige17:20 Bz CGRAERESE)
2it] 2375.0 (190%) 2280.0 3ZHKEC: 2700.0, PH: 6.5

EREBATHC AR IRAREEIN (125 vs 185.0))
EXIASEPRIERE81.0 ml.

REXFEBPH (10.56) S5i&EPH (6.5) RERK, HFHRE
REXEBPH (10.56) S5FMPH (6.5) REKA, BFHRE
EEEEIPH (10.4) 58 EE (6.5) REK K, EHRE.
EREBPH (10.4) SREEY (6.5 RERKA, HHE.
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